
Maulana Azad National Urdu University
B.Tech IV Semester Examination - May - 2017

Paper - (BTCS401HST) Managerial Economics & Financial Analysis


Time : 3 hrs Marks : 70 


       

  

  10   .1

 (10 x 1 = 10 Marks)      1 

(200)    .2

 (5 x 6 = 30 Marks)         6   

  .3

(3 x 10 = 30 Marks)     10    (500)


1 

(Macro / Micro Economics)  __________  (i)

(True / False)  (ii)

(True / False)  Sellers  Large No. of Bayers Perfect Competition  (iii)

(True / False)  Monopolisic Competition  Product Differentiation (iv)

_____________ = Cost + Margin of Safety (v)

(True / False)  Capital  (vi)

(True / False)  Net Present Value  NPV (vii)

(True / False)  Price Earning  P/E (viii)

(True / False)  (Financial Position)  Balance Sheet (ix)

 Fixid Assets (x)

P.T.O




 Managerial Economics (2)

 Pricing Decision (3)

 Economics of Scale (4)

 Uses  Production Function (5)

  (Accounting)  (6)

 


 Pay Back Period  (7)

Initial Investment = 1,00,000
Year Cash Flow After Tax

1 20000
2 30000
3 40000
4 40000
5 20000

 


 Profitability Ratio  Ratio (8)

 


 (Accounting Concepts)  (9)


 Methods  Demand Forecasting (10)

 Advertising Elasticity (11)

 Monopoly (12)

 Price Determination  Perfect Competition (13)

 



 Final Accounts  Trial Balance  (14)
Particulars Debit (Rs) Credit (Rs)

Share Capital 50,000
Bills Payable 8,000
Sundry Creditors 20,000
Sales 1,00,000
Furniture 5,000
Rent 1,000
Cash in Hand 4,000
Wages 2,000
Opening Stock 50,000
Discount 3,000
Insurance 6,000
Office Expenses 7,000
Debits 40,000
Machinary 60,000

1,78,000 1,78,000

 70,000  Closing Stock (a) 
  (Depreciation)  (10%)  Machinary (b)




